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Note: 1) Attempt any five questions.
fa=&t dia weAl ol &1 dHifom)
ii) All questions carry equal marks.
it 9l & 9 3D B
iii)In case of any doubt or dispute the English ve.rsmn
question should be treated as final.
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1. a) Find the voltage V_;, in the network shown below. 7
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b) Find the current through 6K resistor using Thevenin's

theorem. . 7
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2. a) Draw Phasor diagrams of the following circuits. -7
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i) Series R-L- Cwhen X, > X

i) SeriesR-L-Cwhen X; < X. .

iii) Series R-L-Cwhen X, = X.. _
b) A 3-¢ balanced system supplies 110V to a delta connected

load whose phase impedance is equal to (3.54+j3.54)).

Determine the line currents and draw the Phasor diagram.
' 7
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3 a) Draw Phasor diagram of a 3-phase é:lclta connected load
o and find the relation between phase and line voltages and

currents. 7
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b) A220V, 100 Hz, A.C.source supplies a series RLC circuit

b)

(31

with a capacitor and a coil. If the coil has 50 mH inductance,
find at a resonance frequency of 100 Hz, what is the value: of
capamtor'? 7
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Draw the typical normal magnetization curve of

ferromagnetic material. https://www.rgpvonline.com 7
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Explain in detail the Applications of DC Machines. 7
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' Draw and explain the output characteristic of a NPN

transistor operation in CE configuration. 7
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The no-load ratio required in a sinéle—phase 50 Hz
transformer is 6600/600 V. 1f the maximum value of flux in

* the core is to be about 0.08 Wb, find the number of turns in
. eachwinding. 7
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Enumerate the various losses in a transfonner How thesel

losses can be minimized?
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8. Write short notes on: (any two)
. a) R-S flip-flop '

[4]

Explain the construction and working principle of three-phase
induction motor with suitable diagram. 7
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What is the difference between a separately ex-::lted and a
self-excited generator? 7
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An 8-pole DC machine has a wave winding containing
600 conductors. Calculate the generated e.rm.f when the

flux per pole is 0.08 Wb and speed is 215 rpm. If the flux
per pole is-made 0.05 Wb. At what speed should the

armature be driven to generate SO0V. _ 7 .
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b) I-K flip-flop
c¢) De-Morgan's theorem
d) Star Delta transformation
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